Day 3: Socratic Seminar 
1. What was life like in Russia for serfs, nobility, laborers, and the Tzar?

. How did serfs view the nobility? How did nobility view the serfs?

a. Was Russia considered modernized at this time? Why or why not?

. How did this contribute to the long-term causes of the revolution?

a. Beginning in 1861, the Tzar instituted reforms to address Russia’s economic problems. What kind of reforms took place? Were they effective? Were they approved of by the people? Why or why not? (pg. 3-4)

. It was believed by many that the reforms brought about by the Tzar didn’t help Russia in the long-run. Why not? (pg. 3-4)

a. What were the positive and negative impacts of industrialization in Russia?

. How did these impacts contribute to the causes of the revolution?

a. On page 1, the text says that Russia didn’t embrace the importance of the individual as a cultural value (individual rights, individual independence and authority to impact society). If not the individual, then what did Russia embrace? How was that embodied in the peasant lifestyle and the type of government at the time? (pg. 2)

a. Tzar Alexander II was assassinated by the People’s Will in 1881 but this terrorist group had a different cause for killing him than was believed by the Tzar’s son (who would later punish them and others). Explain the opposing perspectives on the reasons for his assassination. How should this inform our understanding of the long-term causes of the revolution? (pg.4)

a. One of the methods used by Tzar Alexander III - to get at the root of what he believed was the problem/cause of his father’s death - was to target minority groups. What was the mentality behind this? Apart from the Tzar’s mindset, what, in effect, is the Tzar doing? How does this inform our understanding of the long-term causes of the revolution? (pg. 5)

a. Marx, the founder of Socialist and Communist ideology, said “from each according to his ability, to each according to his need (1875).” He also said that laborers would revolt and seize power from factory owners and thus sweep aside the old socio-political system and allow for equality for all people. (pg. 6)

. Based on the understanding of Russian cultural values, why did Marxist views appeal to revolutionaries? (pg. 2, 3-4, 10)

a. Is Marx realistic or idealistic? 

a. If that were to happen in a society, what effect might that have (PEGS)?

a. What were the long-term causes of the Russian Revolution?

a. One of the causes for the revolution was failed leadership by the Tzar. What are some examples of this failed leadership, either by Tzar Nicholas II or his predecessors? 

. Were his father or grandfather to still be in power, do you think the revolution would still have happened? 

a. Review your notes on Crane Brinton’s “Anatomy of a Revolution”. How does the Russian Revolution compare to it thus far?

. Why did the 1905 Russian Revolution begin? Address political, economic, and social factors in your answer.

a. Why did the 1905 revolution ultimately fail to satisfy the people (of all classes)? 

a. What could have happened to maintain this change, and thus prevent for the eventual takeover of Communists? (pg. 10-12)

a. What is the difference in political views between liberals and Socialists?

. What is the difference in views between Mensheviks and Bolsheviks?

. Given your understanding of these political views as well as Russian cultural values, explain why it was inevitable that Bolsheviks would gain control and institute economic change while installing a small ruling council who would succeed the Tzar’s power.

a. Should violence be used to achieve political agenda (e.g., overthrow government in favor of a new political system, maintain control of a political system)? (pg. 4, 5, 7, 8, 9, 11-12)

. What ethical message is conveyed by the use of violence in the name of political agenda? 

a. Coercion to believe/submit to a political agenda can be achieved by more violent methods. These include, but aren’t limited to, propaganda and indoctrination, censorship, suppression of opposing beliefs by legal or social pressures. These actions are based on embracing the principle that there is only one correct political philosophy and everyone must believe in it/accept it or else. Explain how all of these parties embodied this principle and used these methods: The Tzar/his supporters, Socialists (Mensheviks and Bolsheviks). 

a. Do the views and actions of the liberals coincide with this principle, that there is only one right political philosophy…? Why or why not?

a. Should revolutionaries be viewed as traitors or patriots? Should the Tzar and his supporters be viewed as traitors or patriots?

a. We know that the 1905 revolution failed and that, ultimately, Bolsheviks will successfully install a new political and economic system. Will the ideals of the Bolsheviks address the problems that plague Russia (i.e., the long-term causes of the Russian Revolution?

